## **CAMERON COUNTY**

#### ANNUAL BID # 1997

#### **CATEGORY A – VEHICLE TIRES**

SPECIFICATIONS FOR: TIRES: VEHICLE

## **MINIMUM SPECIFICATIONS:**

BIDDER'S SPECIFICATIONS: (Please fill out basic or exceeding specifications. All wording must be written in column to the right and without confusion to avoid disqualification.)

## THESE COLUMNS TO BE FILLED IN BY FIRM BIDDING

Prices bid MUST INCLUDE THE

TEXAS STATE TIRE TAX - (if applicable)

	DESCRIPTION REQUIRED		APPROX.			
1	- OR (EQUIVALENT)	SPECIFY BRAND AND	TOTAL	U/M	UNIT	TOTAL
	MIN.: REQUIREMENTS	RELATED SPECS BIDDING	PR/YEAR		PRICE	NET PRICE
	Meets all U.S. Federal & State	F 1				
	Safety Standards, no recaps,	Firesteril				
	no rethreads, no used tires.					
1	All Blackwalls	Meets				
	All P tires must & will be:	Reguirement	Ł			
1	Traction – A, Temperature – B	Pregotie to.				
1	Treadwear – 400 minimum.					
ı	Requirements & guidelines for all			21		
1	listed <u>truck - off road</u> use & related tires below:					
-	TRANSFORCE AT2 #LT275/70R18	Ti cach an	6	EA	1.11 30	1 - 0 0 00
1	TRANSFORCE A12 #L12/5//UR16	+irestove	0	EA	17000	1020
2	TRANSFORCE HT2 #LT275/70R18	Firestove	2	EA	17000	7,1400.
		- 1 HT2			112	377
3	TRANSFORCE HT3 #LT245/7SR16	Firestore	137	EA	10000	11-441000
		, HT3			120	_10110
4	TRANSFORCE AT2 #LT265/70RI 7	Firectour	50	EA	11 600	SILNOD
	: 3	AT2			160	_ 0230 .
5	TRANSFORCE HT3 #L T265/70RI 7	Firestown	50	EA	17000	950000
		HT3			110	0000
6	TRANSFORCE HT3 #LT265/7SR16	Filestove	4	EA	122/00	53/00
-		HT3			101	_ 000
7	TRANSFORCE AT2 #LT265/7SR16	Firestove	43	EA	14000	102000
		£74			1 10	_ 6070

	PAGE PRICE: \$ 41110
DATE: 11-19-24 SIGNATURE:	NAME: JAVIET TOME
COMPANY NAME: Ficostone	<u>्</u>
ABOVE PRICES ARE F.O.B.: <u>Yes</u>	TERMS:
PHONE No. (956) 541-5556 EMAIL ADDRESS:	

## **CAMERON COUNTY**

#### **ANNUAL BID # 1997**

#### **CATEGORY A – VEHICLE TIRES**

SPECIFICATIONS FOR: TIRES: VEHICLE

MINIMUM SPECIFICATIONS:

<u>BIDDER'S SPECIFICATIONS</u>: (Please fill out basic or exceeding specifications. All wording must be written in column to the right and without confusion to avoid disqualification.)

# THESE COLUMNS TO BE FILLED IN BY FIRM BIDDING

Prices bid MUST INCLUDE THE

TEXAS STATE TIRE TAX - (if applicable)

				LLIM	15 51711L TIME 171	X - (if applicable).
	DESCRIPTION REQUIRED - OR (EQUIVALENT) MIN.: REQUIREMENTS	SPECIFY BRAND AND RELATED ŞPECS BIDDING	APPROX. TOTAL PR/YEAR	U/M	UNIT PRICE	TOTAL NET PRICE
	Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires. All Blackwalls All P tires must & will be: Traction – A, Temperature – B Treadwear – 400 minimum. Requirements & guidelines for all	Regulamots				
8	listed truck - off road use & related tires below:  TRANSFORCE CV #235/6SR16	Firestore	4	EA	13514	540.56
9	DESTINATION XT #LT265/70RI 7	Firestove XT	4	EA	175 00	700 %
10	DESTINATION AT #LT275/6SR18	Firestone Atz	2	EA	16370	307 50.
11	DESTINATION AT2 #265/70R17	Firestone ATZ	2	EA	12000	24000
12	DESTINATION AT2 #LT285/75R17	Ficerstove ATZ	20	EA	14800	296000
13	DESTINATION LE3 #275/6SR18	Ficeshove LES	12	EA	12939	155268
14	DESTINATION LE3 #265/70R17	Firestone LE3	2	EA	127.11	254 22
15	DESTINATION MT2 #LT245/7SR17	FIRESTEUR MTZ	12	EA	17892	214704
16	DESTINATION MT2 #LT275/6SR20	Firestone MTZ	12	EA	24476	2937 3
17	LT245/75R16 HT	Ficestone HTZ	20	EA	11922	2384 40
18	P245/75R16 HT	Achilles HWY	10	EA	8500	850
19	LT265/70R17 AT	Achilles AT	7	EA	11000	770
20	LT265/70R17 HT	Achilles HWY	4	EA	10500	42000
21	LT265/75R16 AT	Firestone AT	3	EA	11200	33600
22	LT265/75R16 HT	Ficostave HT	4	EA	11500	46000
23	LT265/75R16 AT	Firestove AT	5	EA	11200	5600

	CATEGORY A TOTAL PRICE: \$ 17419 82
DATE: 11-19-24 SIGNATURE:	NAME: Jail Jorra
COMPANY NAME: Ficestoux	
ABOVE PRICES ARE F.O.B.: 45	TERMS:
PHONE NO. 95L) 5411-5556 EMA	IL ADDRESS:

**CATEGORY A** 

TIRES: VEHICLE

#### MISCELLANEOUS LIST

On all other Miscellaneous Vehicle Tires not listed Cameron County will receive 10% % off our catalog list prices.

# LIST PRICES TO ACCOMPANY ALL BIDS SUBMITTED.

Bidder	Fic	estou	ue		
Address_	1054	FM	302		7.5
(	Browns	ville	IX	7852	1
	City/State/Zip)	`			
Signature_	<del></del>	m			C. See So As
Telephone	(956)	541-5	556	Date	-19-24

# **CATEGORY B**

# PATROL POLICE PURSUIT TIRES

# MINIMUM SPECIFICATIONS: PATROL POLICE PURSUIT – HIGH RATED SPEED TIRES

## **BIDDER'S SPECIFICATIONS:**

(Please fill out basic or exceeding specifications. All wording must be written in column to the right and without confusion to avoid disqualification.)

		GIO.	damicationij
1.	Must meet standards - Specifications for Pursuit/ Patrol/ Police use and related as such: Goodyear Firestone BFGoodrich General or Michelin or Pirelli (or Equivalent)	1,	Firehawk Porsoit
2.	P245/55R18 Firestone – Firehawk PV41, or Goodyear, or BF Goodrich, or General, or Michelin, or Pirelli or equivalent P225/60R18 Firestone – Firehawk GP Pursuit or Goodyear, or BF Goodrich, or General, or Michelin, or Pirelli or equivalent P235/55R17 Firestone – Firehawk GT Pursuit, or Goodyear, or BF Goodrich, or General, or Michelin, or Pirelli or equivalent P265/60R17 Firestone – Firehawk GT Pursuit, or Goodyear, or BF Goodrich, or General, or Michelin, or Pirelli or equivalent	2.	Tread wear 640 Trac AA  Traction AA  Tread wear 640 Trac AA  Temp A  Temp A  Temp A  Temp A  Temp A
3.	Radials	3.	RADIA
4.	Blackwalls	4.	Black WAT
5,	Treadwear: 260 minimum	5.	640
6,	Traction rating - A	6.	AA tasction
7,	Temperature rating - A	7.	A temp
8.	Speed – V Rated - minimum required	8.	W speed Rating

NAME OF BIDDER	Figestone
SIGNED BY	(Please print or type)  JAVINE TORRES MIS
ADDRESS	(Title)
	Brownso, 1/2 12 28521
TELEPHONE	NO. 956 541 5556 DATE 11/19/24

# PRICE PAGE CATEGORY B PATROL POLICE PURSUIT – HIGH RATED SPEED TIRES

	DESCRIPTION OF ITEM	ANNUAL ESTIMATED QUANITY	PRICE EACH	TOTAL
A. A.	P245/55R18 Goodyear Firestone Firehawk PV41 BFGoodrich General or Michelin or Pirelli (or Equivalent)  SPECIFY BRAND AND RELATED SPECS BIDDING:	200 each	12500	25,000
B <sub>∗</sub>	P225/60R18 Goodyear Firestone Firehawk GP Pursuit BFGoodrich General or Michelin or Pirelli (or Equivalent)	200 each	12000	24,000°°
B. C.	SPECIFY BRAND AND RELATED SPECS BIDDING: P265/60R17			
ē.	Firestone Firehawk GT pursuit BFGoodrich General or Michelin or Pirelli (or Equivalent)	200 each	12000	24,000
C.	SPECIFY BRAND AND RELATED SPECS BIDDING:			
D.	P255/60R18 Firestone Firehawk GT pursuit BFGoodrich General or Michelin or Pirelli (or Equivalent) SPECIFY BRAND AND RELATED SPECS BIDDING:	200 each	11500	23,000
E. E.	P275/55R20 Firestone Firehawk GT pursuit BFGoodrich General or Michelin or Pirelli (or Equivalent) SPECIFY BRAND AND RELATED SPECS BIDDING:	200 each	15000	30,000
		CATEGORY B	TOTAL PRICE:	26,00000
	Prices bid MUST INCLUDE THE	TEXAS STATE TIRE	TAX! IF APPLICAB	<u>LE</u>
	NAME OF BIDDER (Please prin	nt or type)	MT. 74521	(Title)

#### **CATEGORY B**

## TIRES: PATROL POLICE

## PERSUIT MISCELLANEOUS LIST

On all other **Miscellaneous Patrol Police Pursuit Tires** <u>not-listed</u> Cameron County will receive \( \) \( \) \( \) \( \) off our catalog list prices.

	LIGIT	MICES I	ACCOM	CALLA CA	DE DIDO	CDIVILLA A LOD.
Bidder	Fire	stev	1.2			
Address_	1054	RM	805			
<u> </u>	City/State/Zip)	11.0	e T	X	785	21
Signature_		2		-		
Telephone	( SSL)	-541.	-5556	Dat	e	-19-24

# ANNUAL BID # 1997 CATEGORY C

SPECIFICATIONS FOR: TIRES: OFF-ROAD (Tractor, Grader, Backhoe, Heavy Truck)

<u>BIDDER'S MINIMUM SPECIFICATIONS</u>: (Please fill out basic or exceeding specifications. All wording must be written in column to the right and without confusion to avoid disqualification.)

THESE COLUMNS TO BE FILLED

IN BY FIRM BIDDING

PRICES BID MUST INCLUDE THE

				TEX	KAS STATE TIRE T	4X - (if applicable).
	DESCRIPTION REQUIRED - OR (EQUIVALENT) MIN.: REQUIREMENTS	SPECIFY BRAND AND RELATED SPECS BIDDING	APPROX TOTAL PER/MON T	U/M	UNIT PRICE	TOTAL NET PRICE
	Meets all U.S. Federal & State Safety Standards, requirements & guidelines for all listed off road use and related tires below. No rethreads, no recaps, no used tires. Will be new.	Meets			3	3,0
į	Grader tire: (rear) w/ skirt for rim 14.00 X 24 tubeless, 12 ply	LOAD	60	EA	44000	2640000
2	Grader tire: (rear) w/ skirt for rim 17.5 X 25 tubeless, 12 ply G2/L2	LOAD MAX	60	EA	65000	39,000
3	Backhoe tire: (rear) 17.5 LR X 24 G/8 ply	Doc stone	48	EA	550°°	26,400 00
4	Roller Pneumatic 7.5 X 15	Advance	48	EA	10000	9120,00
5	Tractor tire: (front) 7.5 X 16 8 ply RIB	CLOS MAX	48	EA	11000	5280°°
6	Tractor tire Front 7.5 X 18 3 RIB	Crop Master	48	EA	15000	7200.00:
7	Tractor tire: (rear) 18.4 X 30 6 ply	GAI TXY	48	EA	70000	33600°°
8	Tractor tire: (rear) 18.4 X 34 6 ply	GALAXY.	48	EA	-800°°	3840000
9	Heavy Truck tire: 11.0 X R22.5 G/14 ply HT all position	LAND Floot	48	EA	28500	13680
10	Heavy Truck tire: 11.0 X R22.5 H/16 ply Traction all position	Land Fleet	48	EA	29500	1416000
11	Backhoe Tractor tire: 21 L X R24	BUI XAM BAOL	60	EA	71580	4290000
12	ST235/80R16 STEER	CArgo MAX	60	EA	8500	510000
13	205/90R15 TRAILER	ZeeMX	48	EA	11000	528000
14	225/70RI9.5 STEER	Sylveray	48	EA	16000	768000
15	225/70R19.5 TRACTION	Alvance	48	EA	16500	792000
DATE: 11-19-24 CATEGORY C TOTAL PRICE \$ 282,120 °°						

DATE: 11-19-24	CATEGORY C TOTAL PRICE \$ 282,120
SIGNATURE: NAME:	20101 PINA
COMPANY NAME: Frasion	A FE 18
ABOVE PRICES ARE F.O.B.: <u>Jes</u>	TERMS:
PHONE No. (95) 541-5556	EMAIL ADDRESS:

# **CATEGORY C**

# TIRES OFF-ROAD (Tractor, Grader, Backhoe, Heavy Truck) MISCELLANEOUS LIST

0	n all other Miscellaneous Off Road Tire	es <u>not-listed</u> Cameron County will receive	9/	6 off our catalog list pric
	Other Tire Sizes to Consider: (Please s	pecify Brand name(s))	,	
	DESCRIPTION REQUIRED - OR (EQUIVALENT) MIN.: REQUIREMENTS	SPECIFY BRAND AND RELATED SPECS BIDDING	U/M	UNIT PRICE
	Meets all U.S. Federal & State Safety Standards, requirements & guidelines for all listed off road use and related tires below. No rethreads, no recaps, no used tires. Will be new.	Meets Reguirments		* la
L	14.5-75-16SL	GALAXI IND	EA	s_500°3
2	14-17.5	LOAS MAX	EA	s 275°°
3	340/85R24	Petlas	EA	s_425°°
4	305/70D16.5 ( 12-16.5 )	WastLake	EA	s_135°°
5	12.5-80-18	GALXYII	EA	s 315°°
6	19.5L-24	GALAXY	EA	s_640°°
7	14.9-24	CALAXY EARTH Pro	EA	s_435°°
8	11.2-24	GALAXY EATH Pro	EA	s_280°0
9	215/75R17.5	Carring	EA	15000

Bidder Ficesteve

Address 1054 FM 802

Brownsulle IX 78521

(City/scate/Zip)

Signature

Telephone 9565415556 Date 11-9-24

Must include and return with BID package.

# **CAMERON COUNTY**

#### **ANNUAL BID # 1997**

#### **CATEGORY A – VEHICLE TIRES**

SPECIFICATIONS FOR: TIRES: VEHICLE

**MINIMUM SPECIFICATIONS:** 

<u>BIDDER'S SPECIFICATIONS</u>: (Please fill out basic or exceeding specifications. All wording must be written in column to the right and without confusion to avoid disqualification.)

# THESE COLUMNS TO BE FILLED IN BY FIRM BIDDING

Prices bid <u>MUST INCLUDE THE</u> TEXAS STATE TIRE TAX - (if applicable).

The second second second			CONTRACTOR DE LA CONTRA			
	DESCRIPTION REQUIRED - OR (EQUIVALENT) MIN.: REQUIREMENTS	SPECIFY BRAND AND	APPROX. TOTAL PR/YEAR	U/M	UNIT PRICE	TOTAL
-		RELATED SPECS BIDDING	*		PRICE	NET PRICE
	Meets all U.S. Federal & State	-				
	Safety Standards, no recaps,		2 4 4			
	no rethreads, no used tires. All Blackwalls		/		4 10	
	All P tires must & will be:			x	3	
	Traction – A, Temperature – B		1			
	Treadwear – 400 minimum.					0.00
1	Requirements & guidelines for all	29			A 2 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	
	listed <u>truck - off road</u> use & related				1 12	
	tires below:				27	
1	TRANSFORCE AT2 #LT275/70R18	ART#014357 FIRESTONE	6	EA	6100.15	£1 129 00
1	THE TOTAL CHEET THE TENTON TO THE TENTON THE TENTON TO THE	ART#01455/ FIRESTONE	0	LA	\$188.15	\$1,128.90
2	TRANSFORCE HT3 #LT275/70R18	ART#013901 FIRESTONE	2	EA	\$179.70	\$159.40
			12			_
3	TRANSFORCE HT3 #LT245/7SR16	ART#013887 FIRESTONE	137	EA	\$124.78	\$17,094.86
-	TRANSFORCE ATTAIN TO CE TRANSF					_
4	TRANSFORCE AT2 #LT265/70RI 7	_ART#013868 FIRESTONE	50	EA	\$167.67	\$8,383.50
5	TRANSFORCE HT3 #L T265/70Rl 7	ART#013894 FIRESTONE	50	EA	\$172.22	\$8,611.00
		THE PROPERTY OF THE PROPERTY O			<b>\$172.22</b>	\$6,011.00
6	TRANSFORCE HT2 #LT265/7SR16	ART#002762 FIRESTONE	4	EA	\$135.53	\$542.12
						_
7	TRANSFORCE AT2 #LT265/7SR16	ART#000182 FIRESTONE	43	EA	\$144.82	\$6,227.26

	PAGE PRICE: \$ \$42.147.04
DATE: <u>11/15/20</u> 24 SIGNATURE:	NAME: Richard Conwill
COMPANY NAME: Southern Tire Mart LLC	_
ABOVE PRICES ARE F.O.B.: Yes	TERMS: NET 30
PHONE No. <u>877-786-4681</u> EMAIL ADDRESS:	gov-sales@stmtires.com

21

22

23

LT265/75R16 AT

LT265/75R16 HT

LT265/75R16 AT

#### **CAMERON COUNTY**

#### ANNUAL BID # 1997

#### **CATEGORY A – VEHICLE TIRES**

SPECIFICATIONS FOR: TIRES: VEHICLE

**MINIMUM SPECIFICATIONS:** 

**DESCRIPTION REQUIRED** 

<u>BIDDER'S SPECIFICATIONS</u>: (Please fill out basic or exceeding specifications. All wording must be written in column to the right and without confusion to avoid disqualification.)

# THESE COLUMNS TO BE FILLED IN BY FIRM BIDDING

APPROX.

3

4

5

EA

EA

EA

CATEGODY A TOTAL

\$129.90

\$129.90

\$129.90

Prices bid <u>MUST INCLUDE THE</u> TEXAS STATE TIRE TAX - (if applicable).

TOTAL - OR (EQUIVALENT) SPECIFY BRAND AND U/M **UNIT** TOTAL PR/YEAR MIN.: REQUIREMENTS RELATED SPECS BIDDING **PRICE NET PRICE** Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires. All Blackwalls All P tires must & will be: Traction – A, Temperature – B Treadwear - 400 minimum. Requirements & guidelines for all listed truck - off road use & related tires below: 8 TRANSFORCE CV #235/6SR16 EA ART#004709 TRANSFORCE CV 4 \$138.02 \$552.08 **DESTINATION XT #LT265/70RI 7** 9 4 EA ART#004373 DESTINATION XT \$179.90 \$719.60 10 **DESTINATION AT #LT275/6SR18** 2 EA \$178.12 ART#012112 DESTINATION AT \$356.24 11 **DESTINATION AT2 #265/70R17** 2 EA ART#013868 DESTINATION AT2 \$167.67 \$335.34 12 **DESTINATION AT2 #LT285/75R17** 20 EA ART#013922 DESTINATION XT \$183.84 \$3,676.80 13 **DESTINATION LE3 #275/6SR18** 12 EA \$143.44 \$1,721.28 ART#005392 DESTINATION LE3 14 **DESTINATION LE3 #265/70R17** 2 EA \$128.89 ART#005374 DESTINATION LE3 \$257.78 15 **DESTINATION MT2 #LT245/7SR17** 12 EA \$149.88 \$1,798.56 ART#003459 DESTINATION MT2 16 **DESTINATION MT2 #LT275/6SR20** 12 EA ART#245927 DESTINATION MT2 \$269.90 \$3,238.80 17 LT245/75R16 HT 20 EA \$110.95 ART#GL1932354763 GLADIATOR HT \$2,219.00 18 P245/75R16 HT 10 EA \$86.66 ART#RL1448 ROADONE HT \$896.60 19 LT265/70R17 AT 7 EA ART#22810027 WESTLAKE AT \$129.90 \$909.30 20 LT265/70R17 HT 4 EA ART#22810023 WESTLAKE HT \$119.61 \$478.44

	CATEGORY A TOTAL PRICE: \$\\\\_18.62
DATE: <u>11-15-24</u> SIGNATURE:	NAME: Richard Conwill
COMPANY NAME: Southern Tire Mart LLC	
ABOVE PRICES ARE F.O.B.: Yes	TERMS: NET 30
PHONE No. <u>877-786-4681</u>	EMAIL ADDRESS: Gov-sales@stmtires.com

ART#22279031 WESTLAKE AT

ART#22279030 WESTLAKE HT

ART#22279031 WESTLAKE AT

(BID PRICES MUST BE FIRM - FOR DURATION OF BID)
(MUST BE F.O.B. DESTINATION UNLESS OTHERWISE STATED) All pricing includes delivery.

\$389.70

\$519.60

\$649.50

## **CATEGORY A**

**TIRES: VEHICLE** 

#### **MISCELLANEOUS LIST**

On all other **Miscellaneous Vehicle Tires not <u>listed</u>** Cameron County will receive \_\_\_\_\_\_\_ % off our catalog list prices.

# LIST PRICES TO ACCOMPANY ALL BIDS SUBMITTED.

Bidder Southern Tire Mart LLC	
Address 800 Highway 98	
Columbia, Ms 39429 (City/State/Zip)	
Signature .	
Telephone 877-786-4681	Date 11-15-2024

# ANNUAL BID: # 1997 <u>CATEGORY B</u>

#### PATROL POLICE PURSUIT TIRES

# $\frac{\text{MINIMUM SPECIFICATIONS}:}{\text{SPEED TIRES}}: \quad \textbf{PATROL POLICE PURSUIT-HIGH RATED}$

## **BIDDER'S SPECIFICATIONS:**

(Please fill out basic or exceeding specifications. All wording must be written in column to the right and without confusion to avoid disqualification.)

particular division in which		4410	
2.	Must meet standards - Specifications for Pursuit/ Patrol/ Police use and related as such: Goodyear Firestone BFGoodrich General or Michelin or Pirelli (or Equivalent)  P245/55R18 Firestone - Firehawk PV41, or Goodyear, or BF Goodrich, or General, or Michelin, or Pirelli or equivalent  P225/60R18 Firestone - Firehawk GP Pursuit or Goodyear, or BF Goodrich, or General, or Michelin, or Pirelli or equivalent  P235/55R17 Firestone - Firehawk GT Pursuit, or Goodyear, or BF Goodrich, or General, or Michelin, or Pirelli or equivalent  P265/60R17 Firestone - Firehawk GT Pursuit, or Goodyear, or BF Goodrich, or General, or Michelin, or Pirelli or equivalent	2.	Firestone Firehawk  Firestone Firehawk  Firestone Firehawk  Firestone Firehawk
3.	Radials	3.	yes
4.	Blackwalls	4.	_yes
5.	Treadwear: 260 minimum	5.	yes
6.	Traction rating - A	6.	yes
7.	Temperature rating - A	7.	yes
8.	Speed – V Rated - minimum required	8.	yes

NAME OF BIDDER	Richard Conwill	
	(Please print or type)	
SIGNED BY	(Sign name in writing)	Director of Government Sales (Title)
ADDRESS	800 Highway 98 Columbia, MS 39429	
TELEPHONE NO.	_(877_) 786-4681	DATE 11 /15 / 2024

# PRICE PAGE CATEGORY B PATROL POLICE PURSUIT – HIGH RATED SPEED TIRES

	DESCRIPTION OF ITEM	ANNUAL ESTIMATED <u>QUANITY</u>	PRICE EACH	TOTAL
A.	P245/55R18 Goodyear Firestone Firehawk PV41 FIRESTONE PUR BFGoodrich	RSUIT ART#000702		
	General or Michelin or Pirelli (or Equivalent)	200 each	\$131.67	\$26,334.00
A.	SPECIFY BRAND AND RELATED SPECS BIDDING:			
В.	P225/60R18 Goodyear Firestone Firehawk GP Pursuit FIRESTON BFGoodrich General or Michelin or Pirelli (or Equivalent)	E PURSUIT ART#011688 200 each	\$120.37	\$24,074.00
B.	SPECIFY BRAND AND RELATED SPECS BIDDING:			
C.	P265/60R17 Firestone Firehawk GT pursuit FIRESTONI BFGoodrich General or Michelin or Pirelli (or Equivalent)		\$126.89	\$25,378.00
C.	SPECIFY BRAND AND RELATED SPECS BIDDING:			
D.	P255/60R18 Firestone Firehawk GT pursuit FIRESTON BFGoodrich General or Michelin or Pirelli (or Equivalent) SPECIFY BRAND AND RELATED SPECS BIDDING:	200 each		_\$23,370.00
E.	P275/55R20 Firestone Firehawk GT pursuit FIRESTON	E PURSUIT ART#008921		
E.	BFGoodrich General or Michelin or Pirelli (or Equivaler SPECIFY BRAND AND RELATED SPECS BIDDING:	f .		\$31,100.00
		CATEGORY B	TOTAL PRICE:	\$130,256.00
	Prices bid MUST INCLUD	E THE TEXAS STATE TIRE	E TAX! IF APPLICAB	BLE
	NAME OF BIDDER	ard Conwill		
	SIGNED BY 2	gn name in writing)	Director of Govern	nment Sales (Title)
	ADDRESS 800 High	way 98 Columbia, MS 39429		
ΓEL	LEPHONE NO( <u>877</u> )-786-4681		DATE_	11 / 15 / 20

## **CATEGORY B**

#### **TIRES: PATROL POLICE**

#### PERSUIT MISCELLANEOUS LIST

On all other **Miscellaneous Patrol Police Pursuit Tires** <u>not-listed</u> Cameron County will receive \_\_\_\_\_\_% off our catalog list prices.

# LIST PRICES TO ACCOMPANY ALL BIDS SUBMITTED.

Bidder	Southern Tire Mart LLC			
Address80	00 Highway 98			
	umbia, MS 39429 v/State/Zip)			
Telephone 8	77-786-4681	Date	11/15/2024	

#### **CATEGORY C**

SPECIFICATIONS FOR: TIRES: OFF-ROAD (Tractor, Grader, Backhoe, Heavy Truck)

<u>BIDDER'S MINIMUM SPECIFICATIONS</u>: (Please fill out basic or exceeding specifications. All wording must be written in column to the right and without confusion to avoid disqualification.)

# THESE COLUMNS TO BE FILLED IN BY FIRM BIDDING

PRICES BID <u>MUST INCLUDE THE</u>
TEXAS STATE TIRE TAX - (if applicable)

	TEXAS STATE TIRE TAX - (if applicable			TAX - (if applicable).		
	DESCRIPTION REQUIRED - OR (EQUIVALENT) MIN.: REQUIREMENTS	SPECIFY BRAND AND RELATED SPECS BIDDING	APPROX TOTAL PER/MON T	U/M	UNIT PRICE	TOTAL NET PRICE
	Meets all U.S. Federal & State Safety Standards, requirements & guidelines for all listed off road use and related tires below. No rethreads, no recaps, no used tires. Will be new.					
1	Grader tire: (rear) w/ skirt for rim 14.00 X 24 tubeless, 12 ply	ART#3003160002 ASCENSO G2 12PR	60	EA	\$414.90	\$24,894.00
2	Grader tire: (rear) w/ skirt for rim 17.5 X 25 tubeless, 12 ply G2/L2	ART#SW1702G1630 SOLIDWAY G2/L2 16PR	60	EA	\$578.19	\$34,691.40
3	Backhoe tire: (rear) 17.5 LR X 24 G/8 ply	ART#GAL200434 GALAXY R4 10PR	48	EA	\$406.65	\$19,519.20
4	Roller Pneumatic 7.5 X 15	ART#CA60127 CARLSTAR ROADROLLER TT12PR	48	EA	\$199.90	\$9.505.20
5	Tractor tire: (front) 7.5 X 16 8 ply RIB	ART#CA52F384 CARLSTAR FARM FRT F2 8PR	48	EA	\$108.62	\$5,213.76
6	Tractor tire Front 7.5 X 18 3 RIB	ART#GAL514284 GALAXY EARTHPRO F2 8PR	48	EA	\$119.90	\$5,755.20
7	Tractor tire: (rear) 18.4 X 30 6 ply	ART#518566 GALAXY EARTHPRO R1 8PR	48	EA	\$519.90	\$424,955.20
8	Tractor tire: (rear) 18.4 X 34 6 ply	ART#3001030020 ASCENSO FARM R-1 8PR	48	EA	\$525.00	\$25,200.00
9	Heavy Truck tire: 11.0 X R22.5 G/14 ply HT all position	ART#GL1173591216 ZEENA AR250 A/P 16PR	48	EA	\$259.90	\$12,475.20
10	Heavy Truck tire: 11.0 X R22.5 H/16 ply Traction all position	ART#GL1173231226 ZENNA DR750 DT 16PR	48	EA	\$249.20	\$11,961.60
11	Backhoe Tractor tire: 21 L X R24	ART#GAL200422 GALAXY EZ RIDER R4 12PR	60	EA	\$612.90	\$29,419.20
12	ST235/80R16 STEER	ART#TMST08 TRAILERMASTER ST 10PR	60	EA	\$89.90	\$5,394.00
13	205/90R15 TRAILER	ART#TMST19 TRAILERMASTE RADIAL SEMI STEEL ST 10PR	48	EA	\$93.57	\$4,491.36
14	225/70RI9.5 STEER	ART@GL1173592193 ZENNA AR250 A/P 14PR	48	EA	\$154.90	\$7,435.20
15	225/70R19.5 TRACTION	ART#GL1173232195 ZENNA DR750 TRACTION 14PR	48	EA	\$152.90	\$7,339.20

DATE: 11/15/2024	CATEGORY C TOTAL PRICE \$	\$628,249.72
SIGNATURE:	NAME: Richard Conwill	
COMPANY NAME: Southern Tire Mart		
ABOVE PRICES ARE F.O.B.: YEs	TERMS: NET 30	
PHONE No. 877-786-4681	EMAIL ADDRESS: gov-sales@stmtires.com	

#### **CATEGORY C**

# TIRES OFF-ROAD (Tractor, Grader, Backhoe, Heavy Truck) **MISCELLANEOUS LIST**

	Other Tire Sizes to Consider: (Please s	pecify Brand name(s))		
	DESCRIPTION REQUIRED - OR (EQUIVALENT) MIN.: REQUIREMENTS	SPECIFY BRAND AND RELATED SPECS BIDDING	U/M	UNIT PRICE
	Meets all U.S. Federal & State Safety Standards, requirements & guidelines for all listed off road use and related tires below. No rethreads, no recaps, no used tires. Will be new.			
1	14.5-75-16SL	ART#321567 FIRESTONE I NDUSTRIAL SPECIAL F3 12PR	EA	\$_299.70
2	14-17.5	ART#SW1720G1430 SOLIDWAY SKS-1 14PR	EA	\$ 253.33
3	340/85R24	ART#GAL853014 GALAXY EARTHPRO 853 R1W 1*	EA	\$ <u>437.55</u>
4	305/70D16.5 ( 12-16.5 )	ART#GAL112264 GALAXY BEEFY BABY III 10PR	EA	\$_237.09
5	12.5-80-18	ART#SW1718B1230 SOLIDWAY FRT BACKHOE R4 12PR	EA	\$ <u>214.85</u>
6	19.5L-24	ART#SW1709B1230 SOLIDWAY REAR BACKHOE R4 12PR	EA	\$ <u>449.36</u>
7	14.9-24	ART#GAL518425 GALAXY EARTH PRO R1 8PR	EA	\$ <u>369.90</u>
8	11.2-24	ART#GAL572926 GALAXY AGRI TRAC II R1 8PR	EA	\$ <u>257.94</u>
9	215/75R17.5	ART#1133391776 DOUBLE COIN RT500 AP 16PR	EA	\$_171.21

## LIST PRICES MUST ACCOMPANY ALL BIDS SUBMITTED.

Bidder_ Southern Tire Mart	
Address 800 Highway 98	*
Columbia, MS 39429 (City/State/Zip)	
Signature	
Telephone <u>877-786-4681</u>	Date11/15/24

Must include and return with BID package.

#### **CAMERON COUNTY**

#### ANNUAL BID # 1997

## **CATEGORY A – VEHICLE TIRES**

SPECIFICATIONS FOR: TIRES: VEHICLE

**MINIMUM SPECIFICATIONS:** 

<u>BIDDER'S SPECIFICATIONS</u>: (Please fill out basic or exceeding specifications. All wording must be written in column to the right and without confusion to avoid disqualification.)

# THESE COLUMNS TO BE FILLED IN BY FIRM BIDDING

Prices bid <u>MUST INCLUDE THE</u> TEXAS STATE TIRE TAX - (if applicable).

	DESCRIPTION REQUIRED		APPROX.			T. Marie T.
	- OR (EQUIVALENT)	SPECIFY BRAND AND	TOTAL	710.6	10.00	
	MIN.: REQUIREMENTS		PR/YEAR	U/M	UNIT	TOTAL
	Meets all U.S. Federal & State	RELATED SPECS BIDDING			PRICE	NET PRICE
1		General / Contintal				
	Safety Standards, no recaps,	BF boodrich				
1	no rethreads, no used tires. All Blackwalls	All Comply with				
	All P tires must & will be :	Speed raing				
		and Load Capcity				
	Traction – A, Temperature – B Treadwear – 400 minimum.	Requested Reguested			1	
1						
	Requirements & guidelines for all		- 1			
	listed <u>truck - off road</u> use & related tires below:					
+		CENTRALBORA				
1 '	TRANSFORCE AT2 #LT275/70R18	SE04506780000	6	EA	234,60	\$ 1,407.06
1	TO A MORAD OF TYPE BY TRACTICATED	L+ 275/70R18 A+X.				
2	TRANSFORCE HT2 #LT275/70R18	66 155 71790000	2	EA	207.57	\$ 415,14
-		GONT noted Terrain Ht.				
3	TRANSFORCE HT3 #LT245/7SR16	GE04507180000	137	EA	134.64.	\$ 18,455.68
_		Graber HD				7 000
4	TRANSFORCE AT2 #LT265/70RI 7	BE0450970000	50	EA	201.70	\$ 10,085.00
		Grabur Atx				475/000700
5	TRANSFORCE HT3 #L T265/70RI 7	GE04507220000	50	EA	173.46	4010-
		Graber HD			1,7,10	\$ 8,673.00
6	TRANSFORCE HT3 #LT265/7SR16	GE 04507190000	4	EA	152.68	\$ 610.72
		Grabber HD				- 010.10
7	TRANSFORCE AT2 #LT265/7SR16	614355	43	EA		\$ 843144
		BF 600 drich				010111

	PAGE PRICE: \$ 46,078,04
DATE: 11/7/24 SIGNATURE: Jutilly	NAME: Fil. berto Alwords
COMPANY NAME: Tand WTire LCC	_
ABOVE PRICES ARE F.O.B.: 45.	TERMS: Net 10
PHONE No. 956-4/2-0690 EMAIL ADDRESS	: falverado@ tendw tire.com

# ANNUAL BID # 1997 ADDENDUM # 1 CAMERON COUNTY

Page 3 of 9

## ANNUAL BID # 1997

#### **CATEGORY A – VEHICLE TIRES**

SPECIFICATIONS FOR: TIRES: VEHICLE

**MINIMUM SPECIFICATIONS:** 

BIDDER'S SPECIFICATIONS: (Please fill out basic or exceeding specifications. All wording must be written in column to the right and without confusion to avoid disqualification.)

# THESE COLUMNS TO BE FILLED IN BY FIRM BIDDING

Prices bid <u>MUST INCLUDE THE</u>
TEXAS STATE TIRE TAX - (if applicable)

DESCRIPTION REQUIRED - OR (EQUIVALENT) MIN.: REQUIREMENTS  Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires. All Blackwalls All P tires must & will be: Traction - A, Temperature - B Treadwear - 400 minimum. Requirements & guidelines for all listed truck - off road use & related tires below:  8 TRANSFORCE CV #235/6SR16  SPECIFY BRAND AND RELATED SPECS BIDDING  NOTAL PR/YEAR  Local Refines  TOTAL PR/YEAR  U/M  Meets all U.S. Federal & State Specify Brand and PR/YEAR  TOTAL PR/YEAR  TOTAL PR/YEAR  APPROX. TOTAL PR/YEAR  We description of the property of the proper	UNIT PRICE	TOTAL NET PRICE
MIN.: REQUIREMENTS  Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires. All Blackwalls All P tires must & will be: Traction – A, Temperature – B Treadwear – 400 minimum. Requirements & guidelines for all listed truck - off road use & related tires below:  8 TRANSFORCE CV #235/6SR16  Meets all U.S. Federal & State Speed Rating PR/YEAR  Meta Tog  Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires.  Meat Tog  Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires.  Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires.  Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires.  Missing Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires.  Missing Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires.  Missing Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires.  Missing Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires.  Missing Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires.  Missing Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires.  Missing Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires.  Missing Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires.  Missing Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires.  Missing Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires.  Missing Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires.  Missing Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires.  Missing Meets all U.S. Federal & State Safety Standards, no used tires.  Missing Meets all U.S. Federal & State Safe		
Meets all U.S. Federal & State Safety Standards, no recaps, no rethreads, no used tires. All Blackwalls All P tires must & will be: Traction – A, Temperature – B Treadwear – 400 minimum. Requirements & guidelines for all listed truck - off road use & related tires below:  8 TRANSFORCE CV #235/6SR16  RELATED SPECS BIDDING  Meets all U.S. Federal & State  Speed Rating  Ply Rati	PRICE	NET PRICE
Safety Standards, no recaps, no rethreads, no used tires. All Blackwalls All P tires must & will be: Traction – A, Temperature – B Treadwear – 400 minimum. Requirements & guidelines for all listed truck - off road use & related tires below:  8 TRANSFORCE CV #235/6SR16  Fully llasting Locd Retring all  Locd Retring all  Locd Retring all  Meset -  EA		
no rethreads, no used tires. All Blackwalls All P tires must & will be: Traction – A, Temperature – B Treadwear – 400 minimum. Requirements & guidelines for all listed truck - off road use & related tires below:  8 TRANSFORCE CV #235/6SR16  General Galler HD 4 EA		
All Blackwalls All P tires must & will be: Traction – A, Temperature – B Treadwear – 400 minimum. Requirements & guidelines for all listed truck - off road use & related tires below:  8 TRANSFORCE CV #235/6SR16  General Galler HD 4 EA		
All P tires must & will be: Traction - A, Temperature - B Treadwear - 400 minimum. Requirements & guidelines for all listed truck - off road use & related tires below:  8 TRANSFORCE CV #235/6SR16 General Galler HD 4 EA		
Traction – A, Temperature – B Treadwear – 400 minimum. Requirements & guidelines for all listed truck - off road use & related tires below:  8 TRANSFORCE CV #235/6SR16  Beautiful Figure 1 Figu		
Treadwear – 400 minimum. Requirements & guidelines for all listed truck - off road use & related tires below:  8 TRANSFORCE CV #235/6SR16 General Grether HD 4 EA		
Requirements & guidelines for all listed truck - off road use & related tires below:  8 TRANSFORCE CV #235/6SR16 General Stather HD 4 EA		
listed truck - off road use & related tires below:  8 TRANSFORCE CV #235/6SR16 General Grather HD 4 EA		
tires below:  8 TRANSFORCE CV #235/6SR16 General Grapher HD 4 EA		
8 TRANSFORCE CV #235/6SR16 General Grapher HD 4 EA		
	151100	112 12
	154.28	6/1.12
CONE. W. TITT	201,70	806.80
EA LAND LAND LAND LAND LAND LAND LAND LAN	233.58	467,16
	201.70	403.40
12 DESTINATION AT2 #LT285/75R17 3F6 ko3 20 EA	266.76	5335.20
	220.97	2651.64
14 DESTINATION LE3 #265/70R17 Gymral HD 2 EA	173,46	346.92
15 DESTINATION MT2 #LT245/7SR17 Forestone MT 003459 12 EA	281.96	3383,52
16 DESTINATION MT2 #LT275/6SR20 BF6 MT 15830 12 EA 3	33.64	4003.68
17 LT245/75R16 HT General HD 20 EA	134.64	2692.80
18 P245/75R16 HT General HD 10 EA /	34.64	1346.40
19 LT265/70R17 AT General ATX 7 EA	201.70	1411.90
20 LT265/70R17 HT General HD 4 EA	173.46	693.84
21 LT265/75R16 AT General BF6 14355 3 EA	1 10	208 24
22 LT265/75R16 HT General HD 4 EA	96.08	3 D O A T
23 LT265/75R16 AT 3F6 14355 5 EA /	96.0B 52.68	610,72

CATEGORY	Y A TOTAL PRICE: \$ <u>26,339.74</u>
DATE: 11/7/24 SIGNATURE: 14/1/4/	NAME: Filiberto Alvando.
COMPANY NAME: TEW Tire UC	
ABOVE PRICES ARE F.O.B.: 4es	TERMS: Nef 10
PHONE No. 956-412-0690 EMAIL ADDRESS:	falvarado @ tandwtire. com

**CATEGORY A** 

TIRES: VEHICLE

## MISCELLANEOUS LIST

On all other Miscellaneous Vehicle Tires not listed Cameron County will receive	_% off our catalog list prices.
LIST PRICES TO ACCOMPANY ALL BIDS SUBMITTED.	
Bidder TEW Tire LCC	
Address 3302 Spur 54	=
Harlingen, Tx 78552 (City/State/Zip)	
Signature JAHOUE 2	_:
Telephone 956-412-0690 Date 11/7/24	

# ANNUAL BID # 1997 ADDENDUM # 1

Page 5 of 9

# ANNUAL BID: # 1997 <u>CATEGORY B</u>

## PATROL POLICE PURSUIT TIRES

# MINIMUM SPECIFICATIONS: PATROL POLICE PURSUIT – HIGH RATED SPEED TIRES

#### **BIDDER'S SPECIFICATIONS:**

(Please fill out basic or exceeding specifications. All wording must be written in column to the right and without confusion to avoid disqualification.)

1.	Must meet standards - Specifications for Pursuit/ Patrol/ Police	1.	
	use and related as such:		General
	Goodyear		
	Firestone		Speed Water Pla Reting
	BFGoodrich		Lord Refus all meet
	General		
	or Michelin or Pirelli (or Equivalent)		
2.	P245/55R18 Firestone – Firehawk PV41, or Goodyear, or	2.	General 6 May Justice
	BF Goodrich, or General, or Michelin, or Pirelli		
	or equivalent	1	
	P225/60R18 Firestone – Firehawk GP Pursuit or Goodyear, or		General. 6 Mex Instice
	BF Goodrich, or General, or Michelin, or Pirelli	'	
	or equivalent	'	
	P235/55R17 Firestone – Firehawk GT Pursuit, or Goodyear, or		General 6 Max Justice
	BF Goodrich, or General, or Michelin, or Pirelli	'	7-2-1-1-1
	or equivalent		
	P265/60R17 Firestone – Firehawk GT Pursuit, or Goodyear, or		General 6 Max Justice.
	BF Goodrich, or General, or Michelin, or Pirelli		Contains of have jujice.
	or equivalent		
			-
3.	Radials	3.	Vac
			783
4.	Blackwalls	4.	
			Yes.
5.	Treadwear: 260 minimum	5.	
			Yes.
6.	Traction rating - A	6.	- 1/ -
			Yes.
7.	Temperature rating - A	7.	
			Yes.
8.	Speed – V Rated - minimum required	8.	- Vac
			442.

NAME OF BIDDER_	7 EW Tire LLC		
	(Please print or type)	Mana	
SIGNED BY _	(Sign name in writing)	Manager. (Title)	
ADDRESS _	3302 Squr 54 Harlingen TK		
	Harlingen TK	78552	
	5		
TELEPHONE	NO. (956) 412-0690	DATE 11 / 7 / 24	

# ANNUAL BID # 1997 ADDENDUM # 1 ANNUAL BID: # 1997

Page 6 of 9

# PRICE PAGE CATEGORY B PATROL POLICE PURSUIT – HIGH RATED SPEED TIRES

		ANNUAL	ND LOE	
	DESCRIPTION OF ITEM	ESTIMATED QUANITY	PRICE <u>EACH</u>	TOTAL
A.	P245/55R18 Goodyear Firestone Firehawk PV41 BFGoodrich General or Michelin or Pirelli (or Equivalent)	200 each	133.40	\$ 26,680
A.	SPECIFY BRAND AND RELATED SPECS BIDDING: 6	eneral G-Max Ju		,
В.	P225/60R18 Goodyear Firestone Firehawk GP Pursuit BFGoodrich General or Michelin or Pirelli (or Equivalent) SPECIFY BRAND AND RELATED SPECS BIDDING:			
В.	SPECIFY BRAND AND RELATED SPECS BIDDING: 6	eneral. 6-Mox Ju	stist GE 155	539 20000
C.	P265/60R17 Firestone Firehawk GT pursuit BFGoodrich General or Michelin or Pirelli (or Equivalent)	200 each	130.83	#26,166
C.	or Michelin or Pirelli (or Equivalent)  SPECIFY BRAND AND RELATED SPECS BIDDING: 6	eneral G-Mox Jo	istice GE155	53960000
D.	P255/60R18 Firestone Firehawk GT pursuit BFGoodrich General or Michelin or Pirelli (or Equivalent) SPECIFY BRAND AND RELATED SPECS BIDDING:	200 each	148.10	\$29,620
D.	SPECIFY BRAND AND RELATED SPECS BIDDING: 6	eneral G-Max Just	ice Aw GE155	78240000
E. E.	P275/55R20 Firestone Firehawk GT pursuit BFGoodrich General or Michelin or Pirelli (or Equivalent) SPECIFY BRAND AND RELATED SPECS BIDDING:	200 each eneral G-Max Jus	181.91 tice Aw GE15	\$36,382.00
			TOTAL PRICE:	
	Prices bid MUST INCLUDE TH			•
				=-9
	NAME OF BIDDER / EW /ire	printor (pe)		
	SIGNED BY JAMES	me in writing)	Manag	er Title)
	ADDRESS 3302 Sp	ur 54		,
	Harle	agen TX 785.	52	
TELE	PHONE NO. 956 4/2-0690		DATE_/	11 17 124

Telephone

# ANNUAL BID # 1997 ADDENDUM # 1 ANNUAL BID: # 1997

Page **7** of **9** 

**CATEGORY B** 

#### TIRES: PATROL POLICE

## PERSUIT MISCELLANEOUS LIST

LIST PRICES TO ACCOMPANY ALL BIDS SUBMITTED.

Date

On all other **Miscellaneous Patrol Police Pursuit Tires** <u>not-listed</u> Cameron County will receive \_\_\_\_\_\_% off our catalog list prices.

Bidder TEW Tire LCC

Address 3302 Spur 54

Harlingen TX 78557

(City/State/Zip)

Signature

# ANNUAL BID # 1997 ADDENDUM # 1 ANNUAL BID # 1997

Page 8 of 9

#### **CATEGORY C**

SPECIFICATIONS FOR: TIRES: OFF-ROAD (Tractor, Grader, Backhoe, Heavy Truck)

BIDDER'S MINIMUM SPECIFICATIONS: (Please fill out basic or exceeding specifications. All wording must be written in column to the right and without confusion to avoid disqualification.)

THESE COLUMNS TO BE FILLED IN BY FIRM BIDDING

PRICES BID MUST INCLUDE THE TEXAS STATE TIRE TAX - (if applicable)

	BEGGETTE	TEXAS STATE TIRE TAX - (if applicable).				
	DESCRIPTION REQUIRED - OR (EQUIVALENT) MIN.: REQUIREMENTS	SPECIFY BRAND AND RELATED SPECS BIDDING	APPROX TOTAL PER/MON T		UNIT PRICE	TOTAL NET PRICE
	Meets all U.S. Federal & State Safety Standards, requirements & guidelines for all listed off road use and related tires below. No rethreads, no recaps, no used tires. Will be new.	Ply Reting & Load Copyity mast Leguments			-	-
1	Grader tire: (rear) w/ skirt for rim 14.00 X 24 tubeless, 12 ply	Samson.	60	EA	4/0.00	\$24,60000
2	Grader tire: (rear) w/ skirt for rim 17.5 X 25 tubeless, 12 ply G2/L2	Load Mox.	60	EA	606.00	\$36,360.00
3	Backhoe tire: (rear) 17.5 LR X 24 G/8 ply	Loadmox.	48	EA	477.00	\$ 22,896.00
4	Roller Pneumatic 7.5 X 15	Advance	48	EA	183.00	\$ 8784.00
5	Tractor tire: (front) 7.5 X 16 8 ply RIB	rop Master	48	EA	120.00	\$ 5760.00
6	Tractor tire Front 7.5 X 18 3 RIB	Cropmaster	48	EA	167.00	\$ 8016.00
7	Tractor tire: (rear) 18.4 X 30 6 ply	Galaxy	48	EA	665.00	# 31,920.00
8	Tractor tire: (rear) 18.4 X 34 6 ply	Crop Master	48	EA	625.00	\$ 30,000.00
9	Heavy Truck tire: 11.0 X R22.5 G/14 ply HT all position	Advance -	48	EA	- 260.00	\$ 12,480.00
10	Heavy Truck tire: 11.0 X R22.5 H/16 ply Traction all position	Advance	48	EA	290.00	#13,920.00
11	Backhoe Tractor tire: 21 L X R24	Load Max	60	EA	665.00	\$ 39,900 .00
12	ST235/80R16 STEER	Corgo Mox Super	60	EA	85.00	\$5,100.00
13	205/90R15 TRAILER	Zee Max	48	EA	105.00	\$5,040,00
14	225/70Ri9.5 STEER	Good Trip	48	EA	145.00	\$6,960.00
15	225/70R19.5 TRACTION	Advance	48	EA	155.00	\$7440.00

, ,	
DATE: 11/7/24	CATEGORY C TOTAL PRICE'S 259,176.00
SIGNATURE: NAME:	Filiberto Alvoredo.
COMPANY NAME: TEW Tire L	LC
ABOVE PRICES ARE F.O.B.: VES	TERMS: Net 10th.
PHONE No. 956 412-0690	EMAIL ADDRESS: falvorado @ fand w fire.com

#### **CATEGORY C**

# TIRES OFF-ROAD (Tractor, Grader, Backhoe, Heavy Truck) MISCELLANEOUS LIST

	Other Tire Sizes to Consider: (Please s	pecify Brand name(s))		
	DESCRIPTION REQUIRED - OR (EQUIVALENT) MIN.: REQUIREMENTS	SPECIFY BRAND AND RELATED SPECS BIDDING	U/M	UNIT PRICE
	Meets all U.S. Federal & State Safety Standards, requirements & guidelines for all listed off road use and related tires below. No rethreads, no recaps, no used tires. Will be new.			
1	14.5-75-16SL	Super Rib F3	EA	s 464.71
2	14-17.5	Loadmax	EA	s 260.00
3	340/85R24	Petlas.	EA ]	\$ 365.00
4	305/70D16.5 ( 12-16.5 )	Westlake	EA [	s 140.00
5	12.5-80-18	LoadMax	EA	s 226.00
6	19.5L-24	Load max.	EA	s 498.36
7	14.9-24	Crop master	ËA	s 310.00
8	11.2-24	Cropmaster	EA	s_210.00
9	215/75R17.5	Goodride	EA	s 140.00

## LIST PRICES MUST ACCOMPANY ALL BIDS SUBMITTED.

Bidder TEW tire LLC
Address 3302 Spur 54
Harlingen Tx 78552 (City/State/Zip)
Signature
Telephone 956-412-0690 Date 11/7/24

Must include and return with BID package.